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1. Which of the following is a dial-up WAN connection type?
A. ISDN
B. DSL
C. Fiber Optic
D. Satellite

2. In networking, what does NAT stand for?
A. Network Addressing Table
B. Network Address Translation
C. Network Access Transfer
D. Network Access Technology

3. How does a standard hub differ from a standard switch?

A. A hub sends packets to all connected computers; a switch
directs packets to specific computers

B. A hub filters packets based on MAC addresses; a switch
transmits packets to all ports

C. A hub supports VLANSs; a switch does not support VLANs
D. A hub can manage traffic; a switch cannot manage traffic

4. An IPv6 address assigned to multiple nodes sends a
message to only one node. What is this called?

A. Unicast address
B. Multicast address
C. Broadcast address
D. Anycast address

5. Which of the following is true about a mesh topology?
A. It is less expensive than star topology.
B. It provides the least redundancy.
C. It offers multiple paths for data to travel between devices.
D. It is typically easier to set up and manage.
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6. Which devices are known to use IP addresses to control
network traffic?

A. Access Points and Hubs

B. Router and Layer 3 Switch
C. Modems and Repeaters

D. Bridges and Switches

7. What device is used to prevent traffic destined for a
specific port from being received from the Internet?
A. Router

B. Switch
C. Firewall
D. Access Point

8. What is the primary difference between STP and UTP
cables?

A. UTP has outer shielding, while STP does not.

B. STP has outer shielding, while UTP does not.

C. STP cables are faster than UTP cables.

D. UTP cables are more expensive than STP cables.

9. Which of the following is an example of a private IP
address?

A.172.16.0.5
B. 203.0.113.5
C. 192.0.2.5
D. 10.1.2.3

10. In which scenario would DHCP be utilized?
A. To manually assign IP addresses
B. To optimize internet traffic

C. To automate the assignment of IP addresses
D. To configure network hardware
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1. Which of the following is a dial-up WAN connection type?
A. ISDN
B. DSL
C. Fiber Optic
D. Satellite

ISDN, or Integrated Services Digital Network, qualifies as a dial-up WAN connection type
because it is designed to transmit voice, video, and data over traditional telephone lines.
ISDN provides digital dial-up communication, allowing users to connect to a wide area
network using standard phone lines but at a higher quality and speed compared to
analog modems. In contrast, DSL (Digital Subscriber Line) uses existing telephone lines
for high-speed internet access but is considered a broadband connection rather than a
dial-up type. Fiber optic connections are fundamentally different, as they use light to
transmit data over fiber cables, providing extremely high speeds that far exceed any
dial-up capability. Satellite connections involve data transmission via satellites, which is
also not classified as dial-up due to its specific technology and capabilities.

2. In networking, what does NAT stand for?
A. Network Addressing Table
B. Network Address Translation
C. Network Access Transfer
D. Network Access Technology

NAT stands for Network Address Translation, which is a crucial networking technique
used to manage IP address spaces and improve network security. It enables a router or
firewall to modify network address information in IP packet headers while they are in
transit across a traffic routing device. This process allows multiple devices on a local
network to share a single public IP address when accessing the internet. The key
advantage of NAT is that it conserves the number of public IP addresses an organization
needs, as multiple devices can connect to the internet using just one public IP. Moreover,
NAT enhances security by obscuring internal IP addresses from external networks,
making it more challenging for potential attackers to access devices within a private
network. In contrast, the other options presented do not accurately reflect the function
and purpose of NAT in networking. Network Addressing Table, Network Access Transfer,
and Network Access Technology do not pertain to the widely recognized and utilized
concept of Network Address Translation. Therefore, the correct identification of NAT as
Network Address Translation highlights its important role in contemporary networking
practices.
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3. How does a standard hub differ from a standard switch?

A. A hub sends packets to all connected computers; a switch
directs packets to specific computers

B. A hub filters packets based on MAC addresses; a switch
transmits packets to all ports

C. A hub supports VLANS; a switch does not support VLANs
D. A hub can manage traffic; a switch cannot manage traffic

A standard hub differs from a standard switch primarily in how they handle data
transmission within a network. A hub operates on a basic principle of broadcasting,
meaning it sends packets of data to all devices connected to it, regardless of the intended
recipient. This approach can lead to network congestion, as all devices receive the same
information, even if it’s only relevant to one or a few. In contrast, a switch uses a more
intelligent method of directing traffic. It maintains a table of MAC addresses
corresponding to each connected device. When a packet is received, it checks the
destination MAC address and forwards the packet only to the specific port that leads to
the intended recipient. This not only reduces unnecessary traffic on the network but also
enhances overall performance and security. By ensuring that only the appropriate devices
receive relevant traffic, switches facilitate a more efficient network environment. The
ability of a switch to intelligently direct packets based on MAC addresses, rather than
broadcasting them to all devices like a hub, is a key distinction that underscores the
superior functionality and performance of a switch in managing network traffic
effectively.

4. An IPv6 address assigned to multiple nodes sends a
message to only one node. What is this called?

A. Unicast address
B. Multicast address
C. Broadcast address
D. Anycast address

The concept of an anycast address is specifically designed for scenarios where a message
is sent from one sender to one of multiple potential receivers without necessarily
reaching all of them. In the case of an IPv6 address configured as an anycast address, the
packet is routed to the nearest node identified by that address, enabling efficient
communication with one of several nodes that share the same address. This is
particularly useful in scenarios like load balancing and redundancy, where the system
can choose the most optimal endpoint to handle a request. In contrast, unicast
addresses target a single specific device, multicast addresses facilitate message delivery
to multiple specified devices simultaneously, and broadcast addresses are intended for
communication to all devices on a local network. Thus, anycast addresses form a unique
method of directing messages to a suitable receiver among multiple candidates, making
them effective for particular networking scenarios.
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5. Which of the following is true about a mesh topology?
A. It is less expensive than star topology.
B. It provides the least redundancy.
C. 1t offers multiple paths for data to travel between devices.

D. It is typically easier to set up and manage.

In a mesh topology, every device is interconnected with one another, which permits
multiple pathways for data to travel between any two devices on the network. This means
that if one link fails, there still exists alternative paths for data to be routed, enhancing
reliability and redundancy. This characteristic is particularly beneficial in maintaining
network performance and availability, as it minimizes the impact of individual device or
link failures. The other choices do not accurately represent the features of mesh
topology. For instance, it is typically more expensive compared to other topologies like
star topology due to the extensive cabling and complexity involved in its implementation.
Additionally, rather than providing the least redundancy, mesh topology is known for its
high redundancy since multiple connections facilitate alternative routes. Finally, it is
generally more complex to set up and manage due to the numerous interconnections
involved, making troubleshooting and maintenance more challenging when compared to
simpler network topologies like star or bus.

6. Which devices are known to use IP addresses to control
network traffic?

A. Access Points and Hubs
B. Router and Laver 3 Switch

C. Modems and Repeaters
D. Bridges and Switches

The devices known to use IP addresses to control network traffic are routers and Layer 3
switches. Routers are fundamental networking devices that operate at Layer 3 (the
network layer) of the OSI model. They analyze incoming IP packets, determine the best
path for them across networks, and forward them to their destination based on their IP
address. Layer 3 switches also function at the network layer and provide similar
capabilities as routers. They can make forwarding decisions based on IP addresses while
also leveraging their abilities to switch within the local area network (LAN) at much
higher speeds. This dual functionality enables them to manage traffic efficiently in a
network that may require both high-speed switching for local devices and routing
capabilities for connecting to remote networks. In contrast, the other options consist of
devices that primarily operate at lower layers of the OSI model. Access Points connect
wireless clients to a wired network but do not typically use IP addresses for traffic
control, as they primarily function at Layer 2. Hubs broadcast packets to all ports without
any intelligence regarding IP addressing. Modems and repeaters primarily work at Layers
1 (physical layer) and 2 (data link layer), respectively, and do not engage in routing or
switching based on IP addresses. Finally,
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7. What device is used to prevent traffic destined for a
specific port from being received from the Internet?

A. Router
B. Switch
C. Firewall

D. Access Point

A firewall is specifically designed to control incoming and outgoing network traffic based
on predetermined security rules. It acts as a barrier between a trusted internal network
and untrusted external networks, such as the Internet. When configured correctly, a
firewall can block traffic destined for specific ports, thereby preventing unauthorized
access to devices and services running on those ports. By filtering traffic based on
criteria such as IP addresses, protocols, and port numbers, firewalls help secure
networks from potential threats and attacks. In contrast, routers primarily direct traffic
between different networks but do not inherently filter traffic based on security rules.
Switches operate mainly at the data link layer to connect devices within a local area
network and manage data packets based on MAC addresses, without providing the
security filtering capabilities of a firewall. Access points facilitate wireless network
connectivity but do not offer any protective traffic control features. Thus, the function of
a firewall in managing and securing traffic destined for specific ports makes it the most
suitable device for this scenario.

8. What is the primary difference between STP and UTP
cables?

A. UTP has outer shielding, while STP does not.

B. STP has outer shielding, while UTP does not.
C. STP cables are faster than UTP cables.

D. UTP cables are more expensive than STP cables.

The primary difference between STP (Shielded Twisted Pair) cables and UTP (Unshielded
Twisted Pair) cables lies in their construction and the presence of shielding. STP cables
have an additional layer of shielding around the twisted pairs of wires. This shielding
helps protect the data signals from external electromagnetic interference, which can be a
significant factor in environments with a lot of electronic noise. The shielding enhances
the cable's ability to maintain signal integrity, especially over longer distances or in
situations with considerable interference. On the other hand, UTP cables do not have
this outer shielding, making them generally more susceptible to external noise and
interference. While they can be effective for many networking applications, they may not
perform as well as STP cables in challenging environments. Therefore, the correct
answer accurately identifies that STP has outer shielding, while UTP does not,
highlighting a fundamental aspect of these two types of cabling used in networking.
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9. Which of the following is an example of a private IP
address?

A.172.16.0.5
B. 203.0.113.5
C. 192.0.2.5
D. 10.1.2.3

A private IP address is defined as an address that is used within a private network and is
not routable on the public Internet. The ranges of private IP addresses are defined by the
Internet Assigned Numbers Authority (IANA). Specifically, the private IP address ranges
include: - 10.0.0.0 to 10.255.255.255 - 172.16.0.0 to 172.31.255.255 - 192.168.0.0 to
192.168.255.255 In this case, the example of 172.16.0.5 falls within the range of the
172.16.0.0 to 172.31.255.255, making it a valid private IP address. It is commonly used in
internal networks for devices that need to communicate without being exposed to the
public Internet. The other addresses presented are examples of public IP addresses,
meaning they are routable on the Internet and can be used for devices directly accessible
from the Internet. Specifically, 203.0.113.5 and 192.0.2.5 are in the range reserved for
documentation and examples, which, while not used on the Internet, still fall under

10. In which scenario would DHCP be utilized?

A. To manually assign IP addresses
B. To optimize internet traffic

C. To automate the assignment of IP addresses
D. To configure network hardware

Dynamic Host Configuration Protocol (DHCP) is designed to automate the process of
assigning IP addresses to devices on a network. When a device connects to a network,
DHCP enables it to request an IP address from a DHCP server. The server then
dynamically assigns an available IP address from a predefined pool, along with other
network configuration settings such as subnet mask, gateway, and DNS servers. This
process simplifies network management and reduces the likelihood of IP address
conflicts that can occur with manual assignments. Utilizing DHCP streamlines the
operation of networks, especially in environments with numerous devices that frequently
connect and disconnect. The automation of IP address assignment not only saves time
but also minimizes human error in network configurations. This is particularly useful in
large networks, where managing static IP assignments would be cumbersome and
inefficient.
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